### **Revised Purchase Order**



# **Sales Tax Exemption**

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

Member of the Texas A&M University System.

Purchase Order							
Purchase Order Date	PO/Reference No.	Revision No.	Revision Date				
May 19, 2023	AB0813811	2	Jun 1, 2023				

#### Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

#### **Buyer Contact:**

Buyer	Buyer Email	Buyer Phone Number
cco - Oberg, Clyde	co@tamu.edu	979.845.1042
Customer Contact:		
Name:	Regina Greenwood	
Email:	REGINAG@TAMU.EDU	J
Phone:	+1 979-845-0094	

#### **Order acceptance instructions:**

# For Order Acceptance Instructions and other Terms and Conditions applicable to this PO, see the "Notes to Supplier" section below.

Sup	pplier Information	Delivery Information			
Supplier Name	CCS PRESENTATION BUCKEYE TECHNOLOGY SOLUTIONS DBA	<b>Delivery Address</b> TAMUS Member:	02-Texas A&M University (02)		
Address	20212 HEMPSTEAD RD BLDG 1 HOUSTON, Texas 77065 United States	Attn Instructional Media Services	REGINA GREENWOOD		
Phone	+1 713-892-5850	Innovative Learning Classroom Bldg			
FOB / FREIGHT	Destination	Room	312		
Pre-Pay & Add	No	215 Lamar St			
Payment Terms	0, Net 30	3001 TAMU			
Contract Number - Header	C20201409	College Station, TX 77843-3001			
Contract Number - Line	no value	United States			
Quote number		Delivery Information			
Quote number	Required Delivery Date				
		Ship Via	Best Carrier-Best Way		

## Notes to Supplier

#### **Shipping Instructions**

Note to Supplier TO BE SHIPPED TO MCALLEN, TX -

Reference Contract C20201409 / Reference Attached Proposal Q-3478 TAMU POINT OF

CONTACT: REGINA GREENWOOD - 979.845.9044 - reginag@tamu.edu

Attachments for supplier

CCS Presentations...

#### **PO Clauses**

_	001	No Collect Freight Charges Accepted	Neither COD nor "Collect" freight or handling charges will be accepted.
	100	Order Acceptance Instructions - TAMU	Vendor guarantees that the products delivered, or the services performed, as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services in writing prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions (the version that is effective as of the Purchase Order Date or the Revision Date specified above, whichever is later), which are incorporated into and made a material part of any Purchase Order issued by Texas A&M.

Terms & Conditions - TAMU

Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/\_media/tamu-bid-terms1.pdf

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 45	Sharp NEC Display Solutions C860Q MultiSync C860Q - 86" LED LCD Public DisplayMonitor, 3840 x 2160 (UHD), 24/7, High Haze, 350 cd/m2, Even Bezel Design,Landscape/Portrait, HDMI In x2, DisplayPort In, Audio Mini-Jack Out (Variable or Fixed),Full bidire	C860Q	EA	4,771.10 USD	1 EA	4,771.10 USD
		I				
2 of 45	Micro-Adjust Tilt Wall Mount, X-Large	Chief XTM1U	EA	345.80 USD	1 EA	345.80 USD
		I				
3 of 45	WACOM 24" TOUCH TABLET	DTK2451	EA	1,512.00 USD	1 EA	1,512.00 USD
		1		1		
4 of 45	RoboSHOT 12E OneLINK BRIDGE SYS	Vaddio 999- 99600-200	EA	5,610.40 USD	1 EA	5,610.40 USD
		I				
5 of 45	TT-12F Visual Presenter	Elmo TT-12F	EA	1,044.00 USD	1 EA	1,044.00 USD
		I		035		032
6 of 45	HDMI 2.0 Cable, Premium Certified, 10ft	COVID HDPR-10	EA	27.00 USD	2 EA	54.00 USD
		I .				
7 of 45	DVI-D To HDMI Cable, 6ft	COVID VP-DVI- HD-06	EA	22.25 USD	6 EA	133.50 USD
		ПD-06				030
8 of 45	HDMI 2.0 Cable, Premium Certified, 3ft	COVID HDPR-03	EA	18.19 USD	5 EA	90.95 USD
		I				
9 of 45	HDMI 2.0 Cable, Premium Certified, 6ft	COVID HDPR-06	EA	23.74 USD	4 EA	94.96 USD
		I				
10 of 45	USB 3.0 Cable, A Male to A Male, 6ft	COVID USB3-AA- 06	EA	15.04 USD	3 EA	45.12 USD
		I .				
11 of 45	Listen iDSP Prime Level II Stationary RF System (72 MHz)	Listen Technologies LS- 54-072	EA	1,563.00 USD	1 EA	1,563.00 USD
		I				
12 of 45	Biamp Systems TesiraFORTE X 800 Meeting Room DSP with 4 integrated PoE+ ports.AVB & Dante, 2x2 analog I/O, Stereo USB and 8 channels of AEC. Includes Biamp Launchautomatic discovery and tuning	Biamp Systems TesiraFORTE X 80	EA	3,999.00 USD	1 EA	3,999.00 USD
		I I				
13 of 45	In-Ceiling, 6.5", Coaxial Loudspeaker, White	Biamp Systems C-IC6 White	EA	173.33 USD	4 EA	693.32 USD
		l	'	'	<u> </u>	'
14 of 45	4 channel PoE+ conferencing amplifier	Biamp Systems AMP-450BP	EA	646.67 USD	1 EA	646.67 USD
		Alvir -4300F		USD		030

15 of 45	SpeechLine Multi-Channel Receiver with 2 SL DW RF Links.Features Analog output with (2) Dante Interfaces and PoE power supply.	Sennheiser SL MCR 2 DW-4	EA	1,210.15 USD	1 EA	1,210.15 USD
16 of 45	Sennheiser SL BODYPACK DW-4-US SpeechLineDigital Bodypack Transmitter - 1.9 GHz with BA 30 Battery and Pouch	Sennheiser SENN- SLBDYPCKDW4	EA	381.46 USD	2 EA	762.92 USD
17 of 45	CHG 2N US	Sennheiser 508987	EA	261.99 USD	1 EA	261.99 USD
18 of 45	MKE with 3,5 mm jack and 9 cm length. Includes (1) lanyard, (2)clips and (1) MZW2 windscreen, black	Sennheiser MKE mini	EA	261.99 USD	1 EA	261.99 USD
19 of 45	MKE 2-ew Gold Omni Lav w/Clip & Windscreen Black 3.5 Jack	Sennheiser 009831	EA	261.99 USD	1 EA	261.99 USD
20 of 45	TeamConnectCeiling 2 Microphone kit. Includes (1) TeamConnect Ceiling 2 microphone, (1)Set of SLCM EB mounting brackets, and (1) TCC2 box kit.	Sennheiser TEAM CONNECT CEILIN	EA	3,370.68 USD	1 EA	3,370.68 USD
21 of 45	AMX DVX 6 x 2+1 All-In-One Presentation Switcher	AMX FG1906- 0201	EA	3,904.69 USD	1 EA	3,904.69 USD
22 of 45	MT-702,7" Modero Tabletop Touch Panel	AMX MT-702,7" Modero Tabletop	EA	1,031.25 USD	1 EA	1,031.25 USD
23 of 45	AMX MSA-STMK-07	AMX FG2265-17- 00	EA	130.16 USD	1 EA	130.16 USD
24 of 45	Power supply for the Solstice Pod Gen3 console including international plug adpators	Mersive SP-8301- E	EA	23.99 USD	1 EA	23.99 USD
25 of 45	HDMI cable - 3 FT	Mersive SP-8302- E	EA	6.65 USD	1 EA	6.65 USD
26 of 45	Solstice Pod Gen3 with perpetual Small Group Edition Enterprisesoftware license (4 simultaneous users) and 3 years Solstice Subscription to softwareupdates and support (power supply and HDMI cable sold separately)	Mersive SP-8100- E3	EA	1,292.00 USD	1 EA	1,292.00 USD
27 of 45	1SP RACKSHELF 11DP	Middle Atlantic U1	EA	44.69 USD	1 EA	44.69 USD
	· I					

20 (45	A CHARTON A DAGN GUELE FOR DELL DO			110.00	4.54	11000
29 of 45	CUSTOM RACK SHELF FOR DELL PC	Middle Atlantic RSH4A3M 9020	EA	110.00 USD	1 EA	110.00 USD
30 of 45	Cat 6, 550 MHz, Blue Jacket, Plenum, 1,000' Reel	COVID P-C6-BLU-	EA	720.00	1 EA	720.00
		1KR		USD		USD
		'				
31 of 45	Flat Panel Monitor Arm-Medium Monitor 7.5-25 lbs	Spectrum	EA	418.50	1 EA	418.50
		Industries 95522B		USD		USD
32 of 45	CUSTOM HEIGHT ADJUSTABLE TEACHINGSTATION	Exact Furniture MPD26EA-TX-12-	EA	3,233.33 USD	1 EA	3,233.33 USD
		WIF DZOLA TA TZ		030		030
33 of 45	EXACT FURNITURE SHIPPING	CCS SHIPPING	EA	450.00	1 EA	450.00
33 01 43	EARCI FORNITORE SHIFFIING	CC3 3HIFFHVG		USD	114	450.00 USD
		T .				
34 of 45	15A Advanced AC Line Voltage Regulator W/SMP, 1RU, 10Ft Cord	Furman P-1800	EA	844.80	2 EA	1,689.60
		AR		USD		USD
		'				
35 of 45	DM Lite® 4K60 4:4:4 Transmitter for HDMI®, RS-232, and IRSignal	Crestron HD-TXC-	EA	293.75	1 EA	293.75
	Extension over CATx Cable	4KZ-101		USD		USD
i <u> </u>						
36 of 45	DM Lite® 4K60 4:4:4 Receiver for HDMI®, RS-232, and IRSignal Extension	Crestron HD-RXC-	EA	293.75	1 EA	293.75
	over CATx Cable	4KZ-101		USD		USD
37 of 45	Cable Cubby 222 US One US AC Outlet, 12 A CircuitBreaker, and 2 Outlets Under	Extron Electronics 60-1927-02	EA	353.33 USD	1 EA	353.33 USD
		1				
38 of 45	USB PowerPlate 200 AAP Two Outlet USB Charger -AAP Version	Extron Electronics	EA	146.67	1 EA	146.67
30 01 43	USB POWEIPIALE 200 AAP TWO OULIEL USB CHAIGEL -AAF VEISION	60-1346-02		USD	1 54	USD
		I				
39 of 45	Single Space AAP - Black: One HDMI Female to Femaleon 10" Pigtail	Extron Electronics	EA	62.67 USD	1 EA	62.67 USD
		70-616-12				
		'				
40 of 45	Netgear AV Line M4250-8G2XF-PoE+	Netgear	EA	899.00	1 EA	899.00
		GSM4210PX- 100NAS		USD		USD
41 of 45	REMOVAL AND DECOMMISSION OF EXISTING AV SYSTEM	CCS CCSTECH	EA	1,299.00	1 EA	1,299.00
41 01 43	REMOVAL AND DECOMINISSION OF EXISTING AV 3131 LIVI	CCS CCSTECTT	LA	USD	1 54	1,299.00 USD
		I				
42 of 45	INTEGRATION SERVICES	CCS CCSTECH	EA	7,450.00	1 EA	7,450.00
12 2				USD		USD
		I				
43 of 45	TRAVEL EXPENSES INCLUDING LODGING, PER DIEM, MILEAGE,	CCS TRAVEL	EA	1,858.00	1 EA	1,858.00
	ANDRELATED EXPENSES			USD		USD

44 of 45	CCS Presentation Systems Texas Engineering Creation of drawings	Drawings	EA	650.00 USD	1 EA	650.00 USD	
45 of 45	USB 3.0 CABLE a MALE TO A MALE, 6FT	COVID USB3-AA- 06	EA	14.41 USD	1 EA	14.41 USD	
		ı					
			To	otal	53,12	21.58 USD	
	Billing Information		Billing Ad	ddress			
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through		Texas A&M University-Accounts Payable					
the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via		***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu					
cXML, CSV or PO flip through the supplier portal, e-mail vendorhelp@tamu.edu.  Invoice must include the PO/Reference number shown above.		750 Agronomy Rd Suite 3101					

College Station, TX 77843-6000

United States